
CONSOLIDATED BILL OF MATERIAL FOR FITTER 1st YEARCONSOLIDATED BILL OF MATERIAL FOR FITTER 1st YEARCONSOLIDATED BILL OF MATERIAL FOR FITTER 1st YEARCONSOLIDATED BILL OF MATERIAL FOR FITTER 1st YEARCONSOLIDATED BILL OF MATERIAL FOR FITTER 1st YEAR

Sl.Sl.Sl.Sl.Sl. DescriptionDescriptionDescriptionDescriptionDescription Qty perQty perQty perQty perQty per
NoNoNoNoNo of Materialof Materialof Materialof Materialof Material TraineeTraineeTraineeTraineeTrainee

1 MC 75 Fe 310 62mm
2 10 ISF 6 -do- 60mm
3 20 ISF 4 -do- 500mm
4 20 ISF 6 -do- 660mm
5 25 ISF 3 -do- 320mm
6 25 ISF 5 -do- 750mm
7 25 ISF 6 -do- 450mm
8 35 ISF 6 -do- 140mm
9 35 ISF 8 -do- 120mm
10 35 ISF 16 -do- 35mm
11 35 ISF 20 -do- 40mm
12 40 ISF 25 -do- 110mm
13 45 ISF 6 -do- 90mm
14 45 ISF 12- -do- 63mm
15 45 ISF 20 -do- 22mm
16 50 ISF 6 -do- 1010mm
17 50 ISF 10 -do- 1200mm
18 50 ISF 12 -do- 300mm
20 50 ISF 15 -do- 220mm
21 50 ISF 20 -do- 70mm
22 50 ISF 30- -do- 150mm
23 55 ISF 16 -do- 165mm
24 60 ISF 12- -do- 100mm
25 65 ISF 6- -do- 95mm
26 65 ISF 20- -do- 250mm
27 80 ISF12- -do- 205mm
28 95 ISF 15- -do- 100mm
29 100 ISF 12 -do- 450mm
30 20 ISF 10 40 C8 135mm
31 25 ISF 5 14C6 55mm
32 40 ISF 6 30 C8 95mm
33 65 ISF 6- 45c8 38mm
34 Ø 2.5 Fe310 415mm
35 Ø 4 -do- 360mm
36 Ø 8 -do- 655mm
37 Ø 10 -do- 85mm
38 Ø 12 -do- 527mm
39 Ø 16 -do- 122mm
40 Ø 18 -do- 12mm
41 Ø 20 -do- 252mm
42 Ø 22 -do- 470mm
43 Ø 25 -do- 263mm
44 Ø 28 -do- 26mm
45 Ø 32 -do- 250mm
46 Ø 36 -do- 275mm
47 Ø 40 -do- 210mm
48 Ø 56 -do- 65mm
49 Ø3 Bright bar 60mm
50 Ø 6 40 C8 190mm
51 Ø 8 40 C8 30mm
52 Ø 28 40 C8 60mm
53 Ø 10 55Cr3 120mm
54 Ø 40 Cusn8 Zn4 25mm
55 Ø 25x2.65 Fe310 100mm

Sl.Sl.Sl.Sl.Sl. DescriptionDescriptionDescriptionDescriptionDescription                     Qty per                    Qty per                    Qty per                    Qty per                    Qty per
NoNoNoNoNo of Materialof Materialof Materialof Materialof Material                     Trainee                    Trainee                    Trainee                    Trainee                    Trainee

56 Ø 20x0.8 Al.tube 150mm
57 Ø 20x1.00 Copper 200mm
58       3030x4 Fe310 100mm
59       6545x8 -do- 70mm
60       7070x8 -do- 70mm
61 n 14 -do- 160mm
62 n 16 -do- 260mm
63 n 22 -do- 110mm
64 n 25 -do- 180mm
65 ISST 35x2 Fe310 60mm
66 ISST 160x2.5 -do- 1000mm
67 ISSH 2000x600x.5 Steel sheet 1
68 ISSH 2000x600x.5 G.I. Sheet 1
69 ISSH 200x130x.5 Copper sheet 1
70 ISSH 260x260x1.75 Al.sheet
71 Slotted CSK screw AM 5x12 4 nos.
72 Slotted CSK screw AM 5x15 4 nos.
73 Hex. Soc. head cap screw M6x15 4 nos.
74 CSK head rivet 5x15 4 nos.
75 Cylindrical pin 3h8x12 4 nos.
76 Cylindrical pin 5h8x22 2 nos.
77 Circlip Ø 4x0.4 14 nos.
78 Snap head rivet 6x15 4 nos.
79 Compression spring 1 no.

(as per details in Ex.31)
80 Hex. Soc. head screw M5x25 2 nos.
81 Hex. Soc. head screw M4x25 2 nos.
82 Slotted cheese head screw BM3x12 4 nos.
83 Slotted CSK head screw BM4x14 4 nos.
84 Cylindrical pin 4h8x16 1 no.
85 Washer OD 12xID6.5x2mm 2 nos.
86 Snap head rivet 4x10 20 nos.

ANNEXURE IIIANNEXURE IIIANNEXURE IIIANNEXURE IIIANNEXURE III

81

123456789012345678901234567890121234567890123456789012345678901212345678901234567890123456789012123456789012345678901234567890121234567890123456789012345
123456789012345678901234567890121234567890123456789012345678901212345678901234567890123456789012123456789012345678901234567890121234567890123456789012345
123456789012345678901234567890121234567890123456789012345678901212345678901234567890123456789012123456789012345678901234567890121234567890123456789012345
123456789012345678901234567890121234567890123456789012345678901212345678901234567890123456789012123456789012345678901234567890121234567890123456789012345
123456789012345678901234567890121234567890123456789012345678901212345678901234567890123456789012123456789012345678901234567890121234567890123456789012345
123456789012345678901234567890121234567890123456789012345678901212345678901234567890123456789012123456789012345678901234567890121234567890123456789012345

Extract from Instructor's Guide Book  for Exercise 17 - Bill of Material


